B VCE & PDF https://lwww.geekcert.com/qsda2019.html
' 2024 Latest geekcert QSDA2019 PDF and VCE dumps Download
: GeekCert.com

QSDA2019%%"s

Qlik Sense Data Architect Certification Exam - June 2019 Release

Pass Qlik QSDA2019 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/qsda2019.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Qlik Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

QSDA2019 VCE Dumps | QSDA2019 Exam Questions | QSDA2019 Braindumps 1/5


https://www.geekcert.com/qsda2019.html
https://www.geekcert.com/qsda2019.html
https://www.geekcert.com/qsda2019.html

VCE & PDF https://www.geekcert.com/qsda2019.html
2024 Latest geekcert QSDA2019 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Refer to the exhibit.

239

240 CompaniesDetails:

241 LOAD [CompanylD],

242 Age(Today(),CompanyStarted) as CompanyAge,;
243 LOAD

244 [CompanylD],

245 [CompanyStarted]

246

247 FROM [lib://MyDataFiles/DAExam1.xlsx]

248 (ooxml, embedded labels, table is [Company Names]).
249

250 let a = FieldName(2 ,'CompaniesDetails’);

251 Trace: $(a);

252

253 CompaniesDesc:

254 LOAD

255 [CompanylD],

256 [CompanyDescription],

257 [CompanyName]

258 FROM [lib:/iMyDataFiles/DAExam1.xisx]

259 (ooxml, embedded labels, table is [Company Names]),
260

A business analyst reports that the \'CompanyAge\\' field does NOT display for users The data architect examines the
LOAD script and wants to place the breakpoint in the script to check the field name. Which line number should the data
architect use?

A. 242 because field name appears in the output Panel of the debugger

B. 251 because the field name appears in the Variable panel of the debugger

C. 251 because the field name appears in the Qlik Log files

D. 251 because the field name appears in the Output panel of the debugger

Correct Answer: D

QUESTION 2
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A data architect builds a data model for a large user group. Some sheets will be published, and the app will
allow users to create their own visualizations and analyze data. Some fields must NOT appear in any field
list.

How should a data architect meet these requirements?

A. Use HidePrefix variable

B. Add fields to master items

C. Use security rules

D. Use HideField variable

Correct Answer: A

QUESTION 3

Refer to the exhibit.

Calendar Reglon
%Date : %RegionlD =
Revenue
Year Region
Quarter Noste. 2 | Manager
Month PREQIONH : Country
Revenue
ProductID |
'Forecast
'Region Jan-18 Feb-18 Mar-18 Apr-18 May-18 Jun-18
'EMEA 32 40 25
APAC 16 12 14
LATAM 12 14 16
NA 20 22 22

A business department is forecasting revenue within an Excel spreadsheet. A data architect needs to
include this forecast into the existing data model, and without losing any data.

Which two sets of steps will meet these requirements? (Select two.)
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A. 1. Load the Excel spreadsheet using the data load editor
2.

Use the Unpivot function

3.

Use the Sum function to group the forecast by date

4,

Connect to the existing data model

B. 1. Load the Excel spreadsheet using the data load editor
2. Use the Crosstable function to unpivot the table

3 Create a composite key out of the date and region

4 Connect the new table to the data model

C. 1. Load the Excel spreadsheet using the data load editor
2.

Change the sort order by date

3.

Create a composite key out of the forecast and region

4,

Connect to the existing data model

D. 1. Load the Excel spreadsheet into the data manager

2.

Use the Unpivot function

3.

Create a composite key from the date and region

4,

Connect the new table to the data model

E. 1. Load the Excel spreadsheet using the data manager
2.

Rename the ForecastDate field to Date

3.
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Disable the Region
4,
Connect to the existing data model

Correct Answer: D

QUESTION 4

A data architect is using an Include statement to load the collection of variables from a TextFiles folder connection into
an app. The data architect needs to load the data and generate an error if it fails. Which statement should the data
architect use?
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